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The structure of intermediate A in the following
reaction, is :
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4d, 5p, 5f TIT 6p HEH Tl Tl & T § Fafeeq
mﬁ% ﬂﬂﬁm%

(I 5f>6p>5bp>4d
@ 6p>5f>5p>44
@) 6p>5f>4d>5p
4 b5f>6p>4d>5p

7 arffshensti & 9 S o srommaRe sfuframy
L

(@ 2Cut — Cu2t +Cy?

®)  3MnOj +4H" - 2MnO; +MnO, +2H,0

© 2KMnO, A, K,MnO, + MnO, + O,
@  2MnOj +3Mn®" +2H,0 — 5MnO, +4H®

1 ¥ @ u forerew 9
(1) A (a) T ()
@ (@), H) ()
@ (@), TAd)
@  HE (2) TUT(d)

TATdt ST #, 300 K R T 7 2 91 ¥ u feR
I T % e, 0.1 L @ 0.25 L 7 TR 5 3
Mg frar T e

[ e § 1 feret sk =100 9

@ -30J
@ 5kJ
3 25J
@ 30J
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The correct structure of tribromooctaoxide is :
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4d, 5p, 5f and 6p orbitals are arranged in the order
of decreasing energy. The correct optionis:

1 5f>6p>5p>4d
@ 6p>5f>5p>4d
3 6p>5f>4d>5p
@ 5f>6p>4d>5p

Which of the following reactions are
disproportionation reaction ?

@ 2Cut - Cul* +Cu0

()  3MnO; + 4H' - 2MnO] +MnOj +2H,0
© 2KMnO, A, K,MnO, + MnO, + O,
@  2MnOj; +38Mn2* +2H,0 — 5MnO, +4H®
Select the correct option from the following :
(1) (a)and (b) only

@ (a), () and (c)

® (a)(9and (@)

@

Under isothermal condition, a gas at 300 K
expands from 0.1 L to 0.25 L against a constant
external pressure of 2 bar. The work done by the
gasis: ‘
[Given that 1 L bar=100J]

(a) and (d) only

O -30J
@ 5kJ
® 254
@ 30J
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foror 8 & 5 o A TS fra Y, o

Q) T AR
@ =

@ oA

@ TR SRS
Je srfferan % fag

92Fe3+ (aq) + 21~ (aq) — 2Fe?* (aq) + Ix(aq)

208 K W, ES; = 0.24'V &1 et Svfehan =1 #eh
firest @it (A,G°) Bl

[ e 2, S Rerish F = 96500 C mol ™ ']

1) —46.32kJmol"!
@ —23.16kJmol"?!
(3 46.32kJmol™?!
@  23.16kJmol~!

o5 TR S TG, ATP) F ITER ek
TR & T & 30 WeHRs & €0 H TH A
T 1 (M) Y SO it §, M ¥ :

M Be
@ Mg
@B Ca
@ S

e TR & T T ST ST UHRF T

H,C CH,4
H H

faq-2-=2M
(1) Na/®Fa@itm@ -
@ H,, Pd/C, Fhfe
@) Zn/HCl
@ He?*/HY, HO

H,E (E=0,S8, Se, Te T Po) ¥ forg ardia Tnfae
Wﬂﬁfq%: :

(1) H,S <H,0 <H,Se <HyTe <H,Po
@  Hy0 <H,yS <HySe < HyTe <HyPo
@) H,Po<HyTe <HgSe <HyS <Hy0
@)  HySe <HyTe < HyPo < H,y0 < HyS
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Among the following, the one that is not a
green house gasis.

(1) nitrous oxide
(2 methane

(3 ozone

(4)  sulphur dioxide

For the cell reaction

9Fe3+ (aq) + 21~ (aq) — 2Fe? T (ag) + 15(aq)

E?e]l = 0.24Vat 298 K. The .standard Gibbs
energy (ArGe) of the cell reactionis:

[Given that Faraday constant F'=96500 C mol™ 1

(1) —46.32kJmol™?!
@ —23.16kJmol™?!
(3 46.32kJmol~!
@  23.16kJmol™1

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Mis:

1 Be
@ Mg
® Ca
4 Sr

The most suitable reagent for the following
conversion,is:

H,C CH,

cis-2-butene’

(1) Na/liquid NH4

@ H, Pd/C, quinoline
3 Zn/HC1

@ Hg>*/H*, HyO

Which is the correct thermal stability order for
H,E (E=0, S, Se, Te and Po) ?

) H,S<H,0 <HySe < HyTe < HyP6 -
@  H,0<H,S <H,ySe < HyTe <HyPo
()  HyPo<HyTe <HySe <H,S <H;0.
@  HySe <HyTe < HyPo < Hy0 <H,S
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57. T H 3 o9 9w e 22 57.  Which of the following is incorrect statement ?
() PbF, = Wﬁf m % | (1)  PbF,iscovalent in nature
@  SiCl, ST A - ek A S @ SiClyis easily hydrolysed
. 3  GeX, (X=F, CL Br, I) is more stable than
@  GeX, g{: F, Cl, Br, I), GeX, I goil # <1 @ GeX, * )
TRl § )

(49  SnF,isionicin nature

4  SuF, %! Wiy s &)

. 58. Match the following :
58. =1 = ghw #if . ‘

(@  Pure nitrogen @ Chlorine ‘

(@) ﬁ'ﬂ%‘l’@ﬁ'—[ ® HAT () Haber process (i)  Sulphuricacid
b) TRTEA () : mm (©  Contactprocess (i) Ammonia
© Hoiwmy (iii) eaﬁrﬁm (d)  Deacon’s process @v) Sodium azide or
@ < faf (v) wifeam e Barium azide
S AT\ Ve Which of the following is the correct option ?

1 9 @ B e w2 ' @ ® © @

@ B © @ ® ©® @ G G
®» O @ G G ' @ @ @ O i
@ @ G @O i @ @ G @ @
® @ G @ @ @ Gv @) @ @

@ @ @ @ @ . :
59.  Which of the following diatomic molecular species

§9. Y Wm»_&'l'_d * HATER ﬁ":f g %ﬂﬁwaﬂ? has only w bonds according to Molecular Orbital
Ffoeer TS & W - o7 § 2 Theory ?
® 0 D Oy
@ N, @ Ny
@ G @ G
@  Bey 4 Bey

60. Tty sl & Wil % ferd FOH AR TATH 60. For the second period elements the correct
i) AT ShH B : increasing order of first ionisation enthalpyis:
() Li<Be<B<(C<N<O<F<Ne (1) Li<Be<B<C<N<O<F<Ne
@ Li<B<Be<C<O<N<F<Ne @ Li<B<Be<C<O<N<F<Ne
©® Li<B<Be<C<N<O<F<Ne (3 Li<B<Be<C<N<O<F<Ne

4 Li<Be<B<C<O<N<F<Ne

6. SEfTIwT SgaE &

@ Li<Bq<B<C<O<N<F<Ne

61. The biodegradable polymeris :

Q) TEIH-6, 6 (1 nylon-6,6
@ TEAN 2T 6 @  nylon 2-nylon6
@ -6 3 nylon-6

@ =TS8 4  Buna-S
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pH of a saturated solution of Ca(OH), is 9. The
solubility product (Ksp) of Ca(OH)yis :

1 05x10718

2 0.25x10™ 1o

3 0.125x10715

@ 0.5x10"10

If the rate constant for a first order reactionis k,
the time (t) required for the completion of 99% of
the reaction is given by :

@O t=0.693/k

@2 t=6.909/k

B t=4.606/k

@ t=2.303/k

The non-essential amino acid among the following
is:

(1) valine

2 leucine

(3) alanine

4@ lysine

Among the following, the reaction that proceeds
through an electrophilic substitution, is:

+
(1 @—NZCI‘%@CHM
o Oyt Qe
a «a

AlCl,

+c1, SV light, c1
6))
a a
@) QCHon +HCEeES, CH,C1+H,0

The mixture that forms maximum boiling
azeotropeis:

@®
@
)
@

Water + Nitric acid

Ethanol + Water

Acetone + Carbon disulphide
Heptane + Octane
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- Ny(g)+3Hy(g) = 2NH,(g), % forg
Ll e ®
_ 1 dH,] _ 1 dINH]
@ 3 " at 2 " dt
_d[Ny] _ _ d[NH,]
@ & 7 &
_ d[Np] _ 1 d[NH,]
&) dt 2 dt
d d[NH,’
@ 5 A, AN
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@ 40
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0]
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0]
@ Ph—" \H

T o7reel foeem & ford, wd freeg

Q) AL S=0fERTINMP |

@ A V#OTERTagmp w

® A, H=0ReRTampw

@ Ay G=0TRRTINMP W

LS TWHE H,0 1 HF % forg st e &
() T OH- @1 H,F+ |
@ A H,O0+ qAEF-

(3) N OH- GNF-

4) S HaO+ Qe H,F+
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For the chemical reaction
Ny(g) + 3Hy(g) = 2NH;(g)

the correct option is :

L dE,) 1 dNH,
@ 3 " dt 2 " dat
d[N d[NH
@ - [dtz] -9 [dt 3]
_ Nyl _ 1 dINH)
©) & 2
@ gdMHz] _ , d[NH,]

dt dt

The number of moles of hydrogen molecules
required to produce 20 moles of ammonia through
Haber’s process is :

@ 10
@ 20
@ 30
@ 40

The compound that is most difficult to protonate
is :

For an ideal solution, the correct option is :

(M AL S=0atconstant T and P
@  ALix V#0 at constant T and P

3 A H=0atconstant T and P
@ A, G=0at constant T and P

Conjugate base for Bronsted acids H,0 and HF
are :

(1)  OH~ and HyF+, respectively
(2 H30* and F-, respectively

(3) OH~ and F -, respectively

@ H30* and Hy,F+, respectively



72.

73.

4.

76.

i forera 3 frgor @ a0 A wieiEs! [Agl]l~
wiet 1 fafor g 2

(1) 1MAgNOgHI50mL+ 1.5 M KI %1 50 mL
2 1M AgNO; 1 50 mL + 2 M KI =1 50 mL
G) 2MAgNO,F50mL + 1.5 MKI %I 50 mL
4  0.1MAgNO,® 50mL +0.1 MKI & 50 mL
e ® A0 (dehiol) WW%

v e G

(@ uHifafe

@ uEEiafe

(4) FANTERERIA

7 TR A7, O, 1 Zn—H,0 % We sifufE

mﬁmmﬁmwﬁmﬂamqmﬂﬁm%l
e “A”, HCL 3 fiem W “B” & S % §9 4
MY AR “B” H WG| -

ot
1) -C1-CH,—-CH,-CH
‘ |
' CH,4
CH,Cl
3
i
|
Cl
CH,
|
H,C—CH-CH
@ | |
Cl CHj

Tl 9 Tasia ¥ STUR W K, [Fe(CN)g] # %

AT 1 EE T for=aTe S 8 2
Q) by e
@t
@ &t
@ o'ty
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Which mixture of the solutions will lead to the

formation of negatively charged colloidal [AgHI~
sol. ? :

(1) 50 mL of 1 M AgNOg+50 mL of 1.5M KI
@  50mLof 1M AgNOg+ 50 mL of 2 M KI

(8 50mL of2M AgNO;+50 mL of 1.5 M KI
@ 50mLof0.1 MAgNOz+50mL of 0.1 MKI

Among the following, the narrow spéctrum
antibioticis:

(1) penicillinG.

(2 ampicillin

3) amoxycillin

(@)  chloramphenicol

An alkene “A” on reaction with O3~ai1,d Zn—-H,0
gives propanone and ethanal in equimolar ratio.
Addition of HCl to alkene “A” gives “B” as the major
product. The structure of product“B”is: -

o,
(1) Cl-CH,-CH,—-CH
|
CH,
CH,Cl
o
@ HyC-CH;—C-CH,
|
Cl
ot
H.C-CH-CH
@ S |
Cl  CH,

What is the correct electronic coniiguration of
the central atom in K,[Fe(CN)g] based on crystal
field theory ? ‘ ol

Q) ty el
@ t2§ eg
@ &t
@ e
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7 9 4 PCl,; % wafm o a7 91 vef

(O 9 HeEd P - Cl S T T 120° W
I S &)
@ & P - Ol 39 Th TR A 180° HIHIU
T |
@) 3T P—Cl 3, "eEdt P—Cl e
=t I H o B S
@  PCly 31 sHfufsramia §1
fore el IR 99 2
(D 0.1MNaOH %150 mL+0.1 M CH;COOH
<l 25 mL,
2  0.1MCH;COOH #1100 mL+0.1 M NaOH
I 100 mL
@ 0.1 MHCL ¥ 100 mL+0.1 M NH,OH %
200 mL
@ 0.1 M HCI T 100 mL+0.1 M NaOH &I
100 mL
e afufr m e sae &
COOH
e
+ NH, 4 >
COOH
COOH
®
CONH,,
0
0
COOH
NH,
NH,
NH,
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Identify the incorrect statement related to PCl,

from the following :

®

Three equatorial P— Cl bonds make an angle
of 120° with each other

(@  Twoaxial P— Clbonds make an angle of 180°
with each other

® AxialP—Clbondsare lIonger than equatorial
P—Clbonds

(4 PClymolecule is non-reactive

Which will make basic buffer ?

(1) 50 mL of 0.1 M NaOH +25 mL of 0.1 M
CH3;COOH

2 100 mL of 0.1 M CH3;COOH + 100 mL of
0.1 M NaOH

3 100 mL of 0.1 M HC1+200 mL of
0.1 M NH,O0H

(49 100 mL of 0.1 M HC1+100 mL of 0.1 M

@

@

&)

@

NaOH

The major product of the following reaction is :

COOH

strong heatin

COOH
COOH
:j :CONHz
0
@ﬁ}
0
COOH
:: :NH2
NH,
: :NHz
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T T TE & ghfea it ok wd e i

Hifee
e - I o™ - 11
(@) XeF, @ frfE
b XeFg G o wEae
© XeOF, (i) Tapa AEHR
@ XeO4 Gv) o frafaE
R
@ ® © @
O © @ @G
@ @ @ G o
@ @ @ @
@ @ G O @
g0. hTIe gun TEiTIE e Fr e A Sqeers §, | 80
CER
1) w-STEE 3 AT 3 4R o T TS
¥ p-HaTeh 1 AT B 8 |
@)  w-3E=E T 8
@)  -STerE T AN R p-eh o W SRS
¥ p-FEH 1 AT A 2|
@ ST TS 3 4 % W SRS
¥ d- e o AT A B | oL
g1 i § QP o el vorh 1 82
@)  [SiFgP~
@ [GeClgl2~
@  [Sn(OH)z1*~
@  [SiCl)2~
82, T dw % for For TF T wiwfaa €, 208K | 82
w® 2 = 0.59 V ¥ 1 It axfutferan 3 fere g feertish
¥:
[f@n TN Y T = 298K, 2'301::’ BT _ 0.059 V]
(1) 1.0x102
@ 1.0x10°

3 1.0x1010
4 1.0x103%0

P1

Match the Xenon compounds in Column -1 with

its structure in Column - II and assign the

correct code :
Column -1 Column -I1

(@ XeF, @  pyramidal

®b) XeFg (i)  square planar

© XeOF, (111) distorted octahedral

@ XeOg (iv) square pyramidal

Code:
@ M © @

@ ® @ @ G

@ @ @ ™ @

@ @ @ O

@ G @ O @

The manganate and permanganate ions are

tetrahedral, due to:

(1)  The w-bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

@  Thereisnow- bonding

(3  The m-bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

(@  The w-bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

Which of the following species is not stable ?

O  [SiFl"

@  [GeClgl2-

3  [Sn(OH)g)2~

@ [SiCl2~

For a cell involving one electron Egp= 0.59 V at

_298 K, the equilibrium constant for the cell reaction

is :

[Given that 2'301? i 0.059 V at T = 298 K:\
1O 1.0x10?
@ 1.0x105

@ 1.0x100
@ 1.0x10%0
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= 8 & 2 @ swaed! eeslamee £

1)  Sr(OH),

@  Ca(OH),

3 Mg(OH),

(4)  Be(OH),

350 K 991 15 SR R T 119 1 HieR 3T, 31 vl
o e 7 % ST @ 20 W w9 ¥ qer
THHT FHGHA U (Z) F TRy H O fawea €
(1)  Z> 17 STHYSH el TIE §

@  Z> 17 yfowl oot wgE ¥

@  Z<17Y TFEF 9 Y §

@  Z<1d gt ooy

T AT 9 C 9o e A @ Fifa ). o
VIV GEFHIE (hep) ST oA & @91 T
STRFEAH R % 75% T s E, i w1 g
T

D CoAg

@ CgA,

@  CaA,

@ CA,

for fearfet & wgrdt F wfted somerss @ 2
(1) 76T T SISV

@ TR R g & yEr
@ WYY ey
@  2H(g) » Hy(g)

BESISH AN & Wegd § 1 § ¥ o o 9w
Foft o &3 § Tt B2

O IR g

@  aR gt

@ IRE gt

@ e Il

SIS i SEATE FHIRAT TN F Tog vy fafer &
O  Fenrd fafy

@ ek fafy

(8 Imm-fafa fafy
@ o= WA fafy
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85.
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Which of the following is an amphotericg
hydroxide ?

(@) Sr(OH),

(2 Ca(OH),

(3 Mg(OH),

@  Be(OH),

A gas at 350 K and 15 bar has molar volume
20 percent smaller than that for an ideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z) is :

(1) Z>1and attractive forces are dominant
@  Z>1landrepulsive forces are dominant
(8)  Z<1and attractive forces are dominant

@)  Z<1and repulsive forces are dominant

. A compound is formed by cation C and anion A.

The anions form hexagonal close packed (hep)
lattice and the cations occupy 75% of octahedral

_voids. The formula of the compound is :

@) CiAg
@ CsA,
@) CeA,
@ CuA,

In which case change in entropy is ne gative ?

(1)  Evaporation of water

(2)  Expansion of a gas at constant temperature
(3  Sublimation of solid to gas’

@  2H(g) > Hy)

Which of the following series of transitions in the
spectrum of hydrogen atom falls in visible
region?

() Lymanseries
(@  Balmerseries
(3  Paschen series .
(4) © Brackéttseries -

The method used to remove temporary hardness
of wateris :

(1)  Calgon’s method

@  Clark’'smethod .

3 Ion-exchange method

(4)  Synthetic resins method
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g9, FrAH YA oF T fowRe 1?2 89.
(1) CuFeS,
@ CuOH),
(3) Fe30 4

90.

91.

92.

93.

4 CuCO4.Cu(OH),

it farere B St witreentta T & & geer
o Wl HH &

() (CHgy),NH>CH3;NH,> (CHy3N

@  (CHy)sN>CHgNH, > (CHy)NH

() (CHygN > (CHg),NH > CH3NH,

() CH,NH,>(CHy),NH > (CHy)sN

mmgzﬁﬁ?iraaﬁfrﬁmgwqaﬁwﬁmmﬁ

fear T A ?

@ CO, e 3R S S F FH F &
fa)

) Safafaua ¥ Wan ¥ g iR T aw &
YO YA & faw)

(3) ST STqgul Sl gRT T el W g
g ¥ Jeain & fag |

@  .TRCH (CFCs) % STERT <hl Thict FHI
FO ¥ forg < SIS T T W R

o ¥ SR Rl § ww gr et e W
FIARE o § GRAE Yo w9 A e

STEAEF T am"rﬁ;s‘qﬁ Bt ¥:
1) TR A R
@  ThEHI

@ W

@ TEirEE A

e o e § o ) afE ol 6l S
et ¥ Frefafed 3 9 39 IR ST R
Wﬂﬁ'ﬁﬂ::

Q) T R R B

@ e w5 Rt B

@ e aiHeEE | arg T w6 fageT
@) el H TEenfad

91.

92.

93.

P1
Which one is malachite from the following ?

(1) CuFeS,
@  Cu(OH),
@ Fes0,

@  CuCO4.Cu(OH),

The correct order of the basic strength of methyl
substituted amines in aqueous solution is :

(1)  (CHg),NH > CHyNH, > (CHy)gN
@  (CHy,N > CHyNH, > (CHy),NH
3  (CHg)sN > (CHy)yNH > CHaNH,
@ CHyNH,>(CHy,NH > (CHy);N

The Earth Summit held in Rio de Janeiro in 1992
was called :

() to reduce CO, emissions and global
warming.

2 for conservation of biodiversity and
sustainable utilization of its benefits.

(3)  to assess threat posed to native species by
invasive weed species.

@ for immediate steps to discontinue use of
CFCs that were damaging the ozone layer.

Colostrum, the yellowish fluid, secreted by mother
during the initial days of lactation is very essential
to impart immunity to the newborn infants because
it contains :

(1 Natural killer cells
(20 Monocytes

(3 Macrophages

(4 Immunoglobulin A

Grass leaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

(1)  Closure of stomata
@  Flaccidity of bulliform cells
(3)  Shrinkage of air spaces in spongy mesophyll

(4)  Tylosesin vessels



